REHZERZEHGER)

FR29%6H8H

BEs ERH—@

&\ ox 30RF 40JEE _S0m%E JEl £ b
(FER8%) (FR184) (FR28%) 40—50 30—50

OEER 200 200 160 | !
@QIiEEH 30 35 70 1 1
QxEEH 100 200 250 1 1
@A FrukiE R 1,800 1,600 511k (816) ! !
OZEFEER — — 206
C=RHER 34 (FE32, FER2) 21 180 l 1 1
@DN\L—HR—ILER 451 388 337 | ! l
@/ \FIUbER 474 211 294 l ) !
Q=R 59 27 28 | 1 !
@Y It R—ILER 900 50 {4 (900) 882 l !
DYIFT=RER 178 — 140 |
@7F=REH 520 450 486 l 1 l
@4 —bR—ILEE 180 92 35 | l !
WN\R7ybiR—)LER 11 8 55 ! i T
BTSSRI TESR 192 337 343 1 1 1
®VIbNL—R—)LER — 127 118 l —
Oho—)o 7 ER — — 50 — —

&t 5,129 4,596 4,450 ! l




